
Erratum

The correct sequence of allocations and prices of Definition 1 in the Appendix

should be1

{At, Ct, CA,t, Dp,t, Gt, It, Kt+1, Lt, Mt, MCt, p
∗
t , pZ,t, qt, Rt, rk,t, Tt, Ut, wt, Xt,

Yt, Zt, ηt, Θt, Πt, Ψt, Ωt}∞t=0

In what follows the correct versions of Figures 1-3 of the paper.2

1We are really grateful to Sangki Ahn for this.
2We are really very grateful to Ghassane Benmir for having spotted a typo in the original

codes.
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Figure 1: Impulse Responses to a Technology Shock
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Figure 2: Impulse Responses to a Public Consumption Shock
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Figure 3: Impulse Responses to a Monetary Policy Shock
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